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Abstract Methodology Results and Discussion

The application can help predict sustainability for any university using
financial predictors derived from the IRS 990 form. The application
works as a desktop program for Windows and Mac computers. It is
Financil Prdicrsfor Sustainabity Using RS easy to use and shows the results instantly. Thanks to data collection,
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Equation (7): Total Gifts =
! Year 1 Year 2 Year 3
(GéﬂﬁFfﬂ?ﬂfﬂﬂ?ﬁtﬁlﬂh)+ Income 3438561 7329549 35895576

Fund Balance 1234431 5241220 7400321
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Total Positive Indicators 4553357 12668605 36073800
Total NEgﬂINE Indicators 59275 131555 31604372

Sustainability Ratio 80 96
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IRS document and use the formulas to know of its its sustainability.




